[{]—Base convertions

D2BS (d#, b#):=|if d# <0
Dec2Bas$ (Complement + d#, b#)

B2D (x#, b#):=|d# := Bas2Dec (x#, b#)
if d# < 0.5 Complement

Complement :=2

else
Dec2Bas$ (d#, b#)

2
= 4294967296

d#

else

d# —

Complement

X,,=—25023 x, = D2B$ [Xlo , 16] ="FFFFOE41" B2D [x16, 16] =—-25023
xg := D2B$ [xw , 8] ="37777717101" B2D [x8 , 8] =-25023
x, := D2B$ [Xlo , 2] ="11111111111111111001111001000001" B2D [x2 , 2] =-25023
X, 1=25023 X, :=D2B$ [xlo, 16]:"61BF" B2D [x16, 16]:25023
x, := D2B$ [xw, 8]: "60677" B2D [xg, 8]:25023
x, := D2B$ [xw, 2] ="110000110111111" B2D [er 2]:25023
Calculadora = a X Calculadora (=] X
= Programador = Programador
-25,023 25,023
HEX  FFFF FFFF FFFF 9E4) HEX  61BF
| bEc  -25023 I bEc 25023
OCT 1771 77T T I TTT 17101 OCT 60677
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BaszDec ("SMath", 256, N$,. )= 353468707687

DeCZBaS$[353468707687,256,N$

256] = "SMath"




